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S
SEH A | 1 REGR | Bxmmean RAEMER SATosRn| BATHEE 2= HXEE | BFERNE| W= |[BEER| BE |BEBS| BS |RttKE|scexes|soeseE] ZE00E
- m/s ~ m/s ~ m/s K mm MJ hPa % % %
1:00| AL FE i A FadLi 55.3 0 0 0 0 0 o[ 102758 64
2:00{FGdL 78 i A FadLi 53.9 0 0 0 0 0 0] 10279 63.9
3:.00({FGdL 78 i A i A 56.1 0 0 0 0 0 o[ 10283 63.8
4:.00[7 i A FadLi 62.1 0 0 0 0 0 o[ 10284 63.8
5:00 (7 i A FadLi 60.4 0 0 0 0 0 0] 10286 63.7
6:00|FadL 7 il FadLi 60 0 0 0 0 0 0] 10292 63.6
7:00{FF i [ FadLi 62.5 0 0 0 0 0 0] 10297 63.6
8:00[ AL [ i) [ i) 56.7 0 0 0.1 0.1 0.07 0.07[ 1029.8 63.5
9:00[ AL FadLiE i) 49.7 0 0 1 1.1 0.78 0.85] 10303 63.3
10:00(PEJLFE i) [i] 42.7 0 0 1 2.1 1.38 2.24] 10304 63
11:00[JLFE [ i) E[A:ic] 37.7 0 0 0.9 3.1 1.74 398  1029.8 62.6
12:00[JtF ElA:ic] E[A:ic] 36.2 0 0 1 4 2.07 6.05]  1029.2 62.2
13:00[JLIEFE Jede Jedb s 35.7 0 0 1 5 2.13 8.18]  1028.6 61.8
14:00[Jt 7 Jedb s B[] 347 0 0 1 6 1.73 99| 10286 61.4
15:00[3t dedtFE ElA:ic] 33.9 0 0 1 7 1.29 11.19] 10287 61
16:00|JLJEFE it it 35.6 0 0 0.9 8 0.65 11.84]  1029.2 60.6
17:00[JLJEFE B[] B[ A} 40.1 0 0 0.1 8.1 0.07 11.9] 102938 60.3
18:00|FadL78 it} B[] 50.5 0 0 0 8.1 0 11.9] 10306 60.2
19:00| 78 it i Fii] 54.5 0 0 0 8.1 0 11.9] 10309 60.1
20:00|Fa 4L 7 1L E[Ai] 54.3 0 0 0 8.1 0 11.9 60
21:00|Fa 4L 7 ElAic] FadLis 61 0 0 0 8.1 0 11.9] 10305 60
22:00(7 i} [ i) 724 0 0 0 8.1 0 11.9] 10305 60.2
23.00[7 FadLis [ 77 0 0 0 8.1 0 11.9 60.4
24:00:00[FAER FARIFE EEY 78.9 0 0 0 8.1 0 11.9] 10305 60.7
ELIEE]
EHEA | 1 RR | srmmesn | SARRMRE| BATHHEN HEXHREE e |BEAE| BERE |BEASs| B |HtSE EMRE
m/s m/s MJ hPa %
Ty 52.6 1029.6 62
e il ] Jedb s Jedb s 78.9 64.1
HCEF 0:00 0:01
xIE 32.9 1027.6 59.9
HCEF 15:16 20:16
BE 8 8.1 11.91 119
BRI B (%)
[Jedt® | dt® [ @t | = | m@asm | mm [ Fmes | 79 | gadtes | BT TA XA
AREEES1—)] [ 0] 0] 0] 1.9] 15] 17.1] 10.3] 4] 28] 0]




